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For it was said — lanniny

Overview

After the X3 concluded that "»X ' maintains 2107 XA%Y2 Myn, the X cited a
dispute between X121 27 whether by 1mnX w7pn the monies are a 7D or a 7InA.
In some texts this dispute was introduces with the word 72n°X7; indicating that it is
a continuation from the view of "nX "3 that 23117 Myn (the equivalent of NP5 NMvn).
However mo0oin prefers the X072 of AnN°K (not 1AN°KT)

- Y55 IN9Y NPTNND THOY KYT DNNY PTDY H797 XY 1IN DI 1IN
There are those who have the text read '~»n°8', without a preceding 'n'"»7', and
they are justified, for the dispute (between X1 21 regarding IMnX wpnn) has

no connection at all to the X773 here regarding 121 1121 7 779202 1% w7pns -
= 11P9 OWY 1NN 99X 215 Y DINRT DIVMN 13950 PN YN IMNNIT 9INRT JNIY 199N

For even according to the one (27) who maintains by IR w7pn that nw»
namm, that is because since a person is aware, etc. that 101X 1°0910 7W17°P 7K SO

he decides to give it as a \7P» -
- 2mamn oYY 1N XY XY ON 19N DX P19 99RT XIYD YaN

However in a case where the man does not know whether the w172 will be
effective or not, perhaps he gives it as a gift.

Mmoo offers an additional proof that the two cases are not related:
- 29X 29 YD “9ONT 19509 INT T

And additionally if the text reads '»n’x7', there will be a contradiction from

one ruling of 29 to another ruling of 29 -
- 3 MY 9207 DIYN NISONR 1Y 9INT SN Y399 NT9NIYNY N8I XYY WD *rybe

For previously m»oin explained that (7X1»21) 29 did not want to establish the
mawn like X', who had the case of N5 n°n referencing the X272 because 20
maintained 71n% nwn -

"In our M3 the text reads MK (see the body of this m»on).

% This is in the case where he is giving the PWITP piecemeal; 121 721 7 (77nN2) AwINDA L WIpNA, where he is not
certain whether he will be w7pn her at the end or not (but nevertheless there is a chance that he will be w7p» her [not
like by 1mnx w7pna where there cannot be 1w17°R]), in such a case perhaps all will agree that 71 myn.

? See “Thinking it over’ # 1.

*If we are "nmRT 0%, meaning that it is a continuation from the ruling of *»X ' that P Xn2v2 My, it would turn
out that 21 (who maintains NP5 Myn agrees with X") and XY (who maintains 71n» Nwn) argues with X",

> See ynw1 11"7 'oN (TIE footnote # 11).

® Therefore the rule should be nwTIPn 8" 19192 WO R (not NWTPA ™MW [A1IAR2] DR WY OX).
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- 7PAnnT MmN KoM
And here by 101X w7pn the ruling of 27 is that 199177 (it is not a 71nN) -
$NOT MPYWDI NPANI NI 9NN 1320D9)7 NN 759

Therefore it is the view of noo1n that the text reads =»n 8 (without a n"%7), for
it is a separate issue onto itself.

Summary
We can agree that by 1121 112 1% *w7pni1 that 710n Myn even if we maintain by w7pn

MR that NP5 My,

Thinking it over

1. mpoIn writes that even if we maintain by 101X WTpn that N7P5 NWA, nevertheless
we can maintain that by Xn%¥2 myn the rule is mann myn.® Can we say the reverse,
that even if we maintain by \MnX WIpn that 7ann Myn, nevertheless by X12va Mvn
the rule is (N7p2) mnn myn?® If we can, why did mdoIn mention only one
difference and not the other?'”

2. moon writes (based on his explanation in ¥»w 7"7 'o1n)'! that if we are o1
"nn°RT', there will be a contradiction from 27 on 27. However it is possible that 27
maintains PN Myn and disagrees with "X 27 for 27 maintains 7v119Y MR WIPNI
MoK AnyT!

7 See “Thinking it over” # 2.

¥ See footnote # 3.

? See ¥y 1"7 'on on this Ty TIE footnote # 2.
10 See (also) TN *waon X # 115.

' See there TIE footnote # 11.

12 See &"wn (and footnote # 11).
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